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Section A - Answer Any Two Questions 

Question 1 

Suppose that the Republic of Economists produces three goods: books, magazines and 
papers! Thefollowing· table provides.:inforrnation about4he'Pr~s'and'output for these"' .. 
threegoods:Jopthe;years~(20;:t3r2o;14(and~2015f,:i; C,',' .', . . 

, , 

2013 $100 10' "'.' $50'" .. ' 100' "$10' ...., 200'''''; :";'.' 

2014 $100 12 $52 108 $10 205 
2015 $100 12 $54 115 $10 212 
a) Calculate nominal GDP in 2013, 2014 and 2015. [3] 

b) Using 2013 as the base year, calculate the real GDP for 2013, 2014 and 2015 [6] 

c) What was the percentage change in real GDP from 2013 to 2014? [2] 

d) Using 2013 as the base year, calculate GDP deflator measured on a 100-point 

scale for 2014 and 2015 [4] 

e) 	 "Economists and politicians talk as if an increase in real GDP means that people are 

better off'. But GDP data are far from perfect measures of either economic output or 

welfare. Discuss [10] 

Question 2 

Swaziland is facing widening deficit figures because of volatile SACU receipts and 
expansionary fiscal policies adopted in the past. 

a) 	 Outline the benefits to Swaziland of being a member of SACU. [10] 

b) 	 Outline any five (5) possible measures that the government could explore to tackle 
the growing deficit. [15] 

Question 3 

Economic indicators have become part. of our everyday life. The interest in these 
indicators stems from a variety of reasons. 

a) Discuss any five of these indicators stating how each one of them influences our 
day-to-day lives. [20] 

b) Based on the 2014/15 sectorial data analysis which three sectors of the economy 
should the SRA focus on and why, [5] 

1 



Section B - AlJ.swerAnyTwo Questions 

Question 4 

(a) Suppose ,exports, increase,what will be the effecton in~meand interest rate if. 

income),resJX)nsi\4eness1:oi': ITlO:ne~frdemand\;"iS',~k>:~.F"eornpar~<t.to~ whenl. the", income}·· . 

(bY US~:f!~ffaihcrea'Cffi.1ns?afI'\1:tfte~fS~E~t-'rT1od'eMti~ex.pfai~and4fitlStraf.e};th~~~rrripaet:Of?'ii<~ i',", •. ' 

an increase in the repo rate on national income and the interest rate. [13] 

Question 5 

(a) Use chain reactions and diagrams to explain and illustrate the internal and 

external impact of an increase in economic growth in European Union and China on 

the level of national income, the interest rate and the exchange rate of Swaziland. 

Assume that the degree of international capital mobility is low for Swaziland, that the 

European and Chinese propensity to import is high and that the exchange rate is 

floating. Clearly show the balance of payments adjustment process. [15] 

(b) Suppose a simple economy with only consumption, investment and government. 

Further suppose Income Y = SZL 1000.00, the marginal propensity to consume b = 

0.8. Autonomous consumption a = SZL 1000.00, Investment I = SZL 80.00,· 

Government consumption G = SZL 100 and tax rate t =0.1 

(i) Calculate the size of the expenditure multiplier. [1] 

(ii) Calculate the size of the tax multiplier. [1] 

(iii) Suppose investment I increases by SZL 100.00, calculate the new income level 

following the increase in investment. Also use the appropriate graph to explain the 

effect of an increase in investment on incqme. [4] 

(iv) Suppose the tax rate on income t increases from 0.1 to 0.15, what will be the 

value of equilibrium income following the increase in the tax rate. Also use the 

appropriate graph to explain the effect of an increase in the tax rate on income. [4] 
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Question 6 

(a) Use chain. reactions and .IS-LM model to explain and illustrate the impact of a 

stimulating.. fiscal policy on national income and the interest rate. [15] 
., 
.;+ 

(b) SUppose'" thei'·:easn~· '. resente~:'requiremerm·'tFIDfeases~;' Use·'.the'Y' Keynesian:> 
, 

......... " .. ..w.._w,.;..-''''''-'' . ....&..;--.... ......_ .....~~. ~,u,~;. .• ". . ~'il.\\l, ~ .....1'
u;.a.m~~fOliIla"n!Skw.IiH:llQ:[lIJ!~u.f..DJ'~l,tuI:;St·~;·U'tClz'~j.;\............."'.~~~;cu~,I:,J'~:nbIi.l~',i:···;.,· 


-#,;.;,.."..........,.... . --..",_~~..,~>~,~,~ ..........~-.....;>,,[.......,.~. ,,·~..tOiC.'~'·'·'·'
t:1~l:~t;~~-';tu.ta~.gA~lUr4QlllJY'~,~Ull~·;R;"~r:f.,~!~.t~tPlC~;·lJ!i~t:m~~~J;,:rIW·iJ.Lai.e~~f.;'·.r~~'liJU7"'':')';:::;,:-;:'--'; 

balance of payments adjustment process. Assume Swaziland has a floating " 

exchange rate and the capital flows are not interest rate sensitive. [10] 
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